Name

Master 3-3

Multiplication and Division: ¢

EXAMPLE 1 EXAMPLE 2
Calculbate ’ Calculate. :
8 2 —11 o o7 —53
3%(-9)+2 15+ 25 x(-53)
1 8 3 =(_-10) . 23 <)
=2x(5) %% =(-9)+2x(-3)
2 =(-10)yx 8 (.28
=73 =( 5)% % x( 2)
= 20
9
52
| =23
1. Calculate. 3. Find the product when the quotient of 51
1. 1
3 X 59 5 and3 is multiplied by1
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b. (-9)() = (¥)(-2)
£x(-3) 1)
(9 2x(-9)-3
() (2)3)
= (F)FH)+(F)
o (-2 (-1])x 5 +3
b. ( 31—‘,)x( %)— sz(:z
c. :Béx(—1:13 +2§x(—3§)

" 4. Find the answer when the product of - —-

|- -and i is divided by the quotient of 5 and .

_11

5. Divide the quotient of —2 and 2 by the
product of —- and £ -3

6. Find the answer when the quotlent of 52
and 14 is tripled and then divided by —27.

7. Calculate.

» 3x(3)
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b. —1% +~ 4

=0
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